PAGE @2

a4/84/2808 89:56 7414996 STATE TENN
AKY ACUKA SELECTED PUBLICATION % bage 01 o0f 08
PUB No. Title
AL BIT16547 CORNERING LIGHTE oigs}ggfg oa
ﬁsmlﬁﬁ:rlom o T
INSTRUCTIONS | . cims to-osizamme |- T
P/N: 08V34-8P0-200 SEP 1;;4 ,
PARTS LIST Control unit stay
Right cornering
light

Leﬂ.cornering
light

Right trim

Left trim

2 Rear brackets

2 Front brackets

Control unit

Wire harness

@ 1994 Amerlioan Hondg. Moter Ba.,dne. = AlRighy l
%pyrlghgw rﬁﬁﬁﬁwamericaﬂ Hor’fﬁgﬂMo-mr Co. Ine.

Template

10 Wirs ties
Ground bolt (6 x 12 mm)

8 Screws (4 x 12 mm)

2 Self-tapping scraws
(4 x 25 mm)

Flange bolt
(6 » 20 mm)

Flange nut (6 mm)

Washer-boit
(8x 14 mm) .

All Rights Reserved

1ofg



STATE TENN PAGE 83

B4/p4/2088 B9:56 7414398 e ————— .. dAN L Wt e L LI YA
DOWNEY ACURA SELECTED PUBLICATION Page 02 Of 08
PUB No. Title Izgued
AT RII16547 CORNERING LIGHTS 09/01/1954

TOOLS AND SUPPLIES REQUIRED INSTALLATION

Philiips screwdriver Before You Begin:

10 mm Combination wrench » Write down the customer’s radio station presets:
Utility knife : j the radio memory will be erased when you
Hacksaw blade di.sconnect the battery.

Flat tip screwdriver « |1 the radio has a coded theft protection circuit,

be sure you have the anti-theft code before you

Eye protection (face shield, safety goggles, stc.) . disconnact the battery

Hole saw (40 mm)
Drill

Adhesive tape
Pushpin

lustration of the Comering Lights Installed on the Car

CORNERING LIGHT

WIRE HARNESS |
LEFT CORNERING
CONTROL UNIT LIGHT
2ofl Bif TB173-16547 (9400) @ 1w amariean Honda Motar o, (1o, = Al Righs Rasaryed

Copyright® 2000 American Honda Moter co. Ine¢. All Rights Reserved



STATE TENN PAGE @4

-——y —m— gy v

B4/@4/2608 B9:56 74143896

DOWNEY ACURA " SELECTED PUBLICATION Page 03 OFf 08
FPUB No. Title
AT BII16547 CORNERING LIGHTS 0:‘:98/%';.1/61%94

1. Disconnect the negative cable from the 2-Door Modal:
battery. :

2. Remove the grille covers by inserting the end
of a flat tip screwdriver between the cover and
the grille and then prying the cover up in the \\&”;
direction shown. M
4-Door Model: b%

T

GRILLE
GOVER

—_—

GRILLE
COVER

GRILLE
COVER . GRILLE COVER

@ 1888 Amariean Henda Matar Ca.. Ihe. -'gn Alghts Resarved DI 16173-16547 (9405} 3ot g
Copyright® 2000 American Honda Motor Co. Tne. ALL Rights Reserved



84/04/2808 ©9: 56 7414336

PUWNEY AUCURA

PUB No. Title .
AL BIIL6547 CORNERING LIGHTS

3. Remove the turn signals.

TURN
SIANAL

NOTE:

The kit includes four templates: two for the 4-door |

model and two for the 2-door mode!l. Before
. attaching the templates, be sure you have the
correct templates for the car you are working on,

4. Tape the template at the upper edge of the
fromt bumper, and mark the bumper at the
center of each of the four circles with a
pushpin. Using a utifity knife, cut out the auter
edge of the template on the bumper. Repeat on
the other side.

QUTER EDGE
OF TEMPLATE

~ -

.. #ﬁ;

£

£,

TEMPLATE
PUSHPIN

qofg BI) 1817398847 {8400}

STATE TENMN
SELECTED PUBLICATION

FAGE B5
Page 04 Of 08

Igsued
08/01/1594

To prevent eye injury from debris,
wear eye protection while drilling.

5. Using the drill and 40 mm hole saw, drill a 40
mm hole through each of the four marks
previously made.

6. Cutout the marked area from the front bumper
using a hacksaw blade. Repeat on the other
sida.

40 mm

HACKSAW BLADE

& 120 Amarlean Honda Moter Ca, ine, « All Rights Raserveg

Copyright® 2000 American Honda Motor Co. Inc. A1) Rights Reserved



STATE TENN
SELECLED PUBLICATION

B4/B4/2885 B9:56 7414996

LIVUNWINDLI ALURKH

PUB No. Title
AT BITI16547 CIORNERING LIGHTE

7. Route the wire harness from the kit through the
inslde of the front bumper, and secure it to the
front grilie with the wire tie in the area shown.

8. Position the control unit on the stay, and instal)
the 8 x 20 mm flange bolt and & mm flange nut.
Attach the control unit and stay assembly using
the 8 x 14 mm washer-screw,

9. Tighten the ground terminal of the wire harness
with the 6 x 12 mm ground bolt included in the

PAGE 86
Page 05 Of 08

Issued
08/01/19%94

kit
WIRE TIE
WIRE HARNESS 8-PIN CONNECTOR
/ — - - (Yo be conneated to
( GrounD 1 |5 . the centrol unit.)
1[5 L&
TERMINAL \{_ g - BLUE TAPE
o ’,v'.. "(‘i". T
] -ﬁﬂﬁh"""dﬁ
3 '@‘ 2y Q i (R . 2.PIN
i S ,-J CONNECTOR °
“{i‘!&z . < {For turn gignal.)
WIRE S 2P
HARNESS . X 6 mm FLANGE
. NUT
CORNERING LIGHT -
B o CONTROL,
WIRE HARNESS Ao ‘fg UNIT STAY
,.:S\\'\'\ . 1-“‘\-_5'
\_ . i gy {2 "\'\'J"l )
2-PIN CONNEGTOR 6x12 ,
X mm
(For turn signat.) aRouND Botr /| ! contRON,
x 20 mm UNIT
Bx 14 mm FLANGE
WASHER-SCREW | BOLT
10.0n each side, plug the 2-pin connector from X
the car's turn signal into the cornering light
2-pin  connector taped (blue) to the wire \_ J
hamess,

@& 1294 Amenean Honda Mster Ca,, ing, w All Rights Bnsarvad . Bll 1617396547 [%408)
Copyright 000 American Honda Motor Co.

-

Sofg

Ine, All Rights Regerved



84/84/2888 A9:56 7414996

DUWNEY  ACURA SELECTED

PUB No., Title
AT BIT16547 CORNERING LIGHTS

11.0n the passenger's side, remove the front side
marker/parking light (one secrew, one
cannector).

SCREW

FRONT SIDE
MARKER/PARKING

12.Unplug the connector at the font side
marker/parking light, and connect the
cornaring lights wire harness batween the two
sides of the connector. Reinstall the light.

W//f

=

LIGHTS
WIRE HARNESS

FRONT
SIDE MARKER/
PARKING LIGHT

6 ot 8 .
Copyright® 2000 American Henda

ﬁgpécr Co,

STATE TENMN PAGE @7

PUBLICATION Page 06 Of 08
Izsued
09/01/1954

13.Disconnect the positive cable from the battery;
then remove the battery holder and battery
(two nuts).

14.Remove the fﬁp cover from the under-hood
fuse/relay box; then remove the under-hoad
fuse/relay box (two terminal bolts, two

mounting bolts, one clip).
TOP COVER

UNDER-HOOD
FUSEMELAY BOY,

1664 Apariqan Horgin Mewwr Ce., In. — Al Righ
Inc. A‘TT ﬂg"ﬁtg RéSEI{;é’- o6arvad

-



_B4/B4/2888 B9:56 7414936 STATE TEMM PAGE 88

DQWNEY -ACURA - SELECTED PUBLICATICN Page 07 Of 08
PUE No. Title Isesued
AT BITI16547 CORNERING LIGHTS 0o/01/1594

15.Remove the bottom cover from the under-hood 16.Route the 5-pin connectors of the comating
fuse/relay box, and unplug the (brown) 5-pin fights wirs harness from the front bumpar to the
connector. under-hood fuse/relay box; then connact the
5-pin connectors of the wire harness betwean
UNDER-HODD 5PIN the under-hood fuse/relay box and the S-pin

FUSERELAY BOX CONNEETOR - eonnector you just unplugged.

UNDER-HOOD
FUSE/RELAY BOX

5-PiN

WIRE TIE

| 17.Loosely install the trim on the front brackat
using two 4 x 12 mm screws. Repeat on the
other sids.

FRONT
BRACKET

i ; . B 1817888
B 1994 amarienn Honcn gy G4 ey WA B9 BY e r 1 can Honda Motor Co. Inc. All Righes Reaervad7 of 8



PAGE A9

STATE TENN
Page 08 Of 08

SELECTED PUBLICATION

-B4/@4/2888 B89: 56 7414396

DOWKEY ACURA

Iasued

PUB No, Title 09/01/1994

AT BITL16547 CORNERING LIGHTS

18.Fit the trim and front bracket agsemblias into
pogition in the bumper holes made in step 6.
Inside the front bumper, position the two rear
brackets on the trim, and install two more 4 X
12 mm screws for each.

19.Tighten all the screws securely including the
four 4 x 12 mm screws you loosely installed in
step 17.

- REAR BRAGKET

.....

4% 12 mm

SCREWS
FRONT
BHAEKET REAR BRACKET
o

TRIM

4 %12 mm
SCREWS

20.Connect the connectors of the wire harness to
the cornaring lights.

B of B

, . BN 1817818547 (D409
Copyright® 2000 American Eonda Moéor co.

21.Slide tha cornaring lights into the garnishes,
and install the 4 x 25 mm seli-tapping screws.

WIRE HARNESS

4 %25 mm
SELF-TAPPING
SCREW

LEFT CORNERING
LIGHT

RARNISH

22.Check that all wire hamesses are routed
properly and all connectors are ptugged in.

23.Reinstall afl remaved parts.
24.Connect the negative cable to the battery.
25.Check the cornering lights:

» With the headlights on, turn on the turn
signals one at a time

» Check that each cormnering light comes on and
stays on for a few seconds after the turn signal
goes off.

26.Enter the customer's radio anti-theft code, if
applicable, and reset the radio station presets.

27.Heset the clock.

@ 1904 Amaritan Honda Motor Co., Ine. - All Rigiis Reserved
Inac. All Rightg Regerved



